R FESTA XL T2iEEREAE

ERN

FESTAL XL—H A MM900mm ; & 18mm ; RE&E1378mm ;
EREAREREL816mm

INCLUDED IN THE PACKAGING £13£RRH

LEFT SLID
TR RIGHT SLIDE
iR

CONNECTING BAR

AIEER | QWER PLATE
e
INCLUDED IN THE PACKAGING

ACCESSORIES BAG INCLUDING $2#: it {46
“N. n. 5 Allen key /S RIEF
S n 4 Alenkey 4HABEE
& n3Aknkey /omAmEE

i

B - Socked head cap screw MBx12 (x 12) / Méx12d 7 ML
=== C -Socked head cap screw MBx60 (x 4) s M6xB0M 7 MmiEss

D

E

- -12x8 mm M6 Brass bush (x 12) / osx128®
-3 - Striker for plane hook (x 2) ; ssERH

F - Tapered wood screw 3,5x16 (X 4) / 03 sxiohk T

1
By G -Socked head tapered cap screw MBX16 (x4) J Mex167 7 4

1/12



GENERAL DIMENSIONS #1& R <&

L1(864mm)
= L5(700mm
I —— [ ) g‘l
Hmin| Hmex
Pt | 704 | 816
= Pos2 | 764 | 786 a PR
Pess | 724 | 745 M
;“‘n-pos‘a |
POS. 2 Min overall length closed 550mm
POS.1 /B A =R ES50mm
L L2(B56mm)
————— i
| MODULD MOLULE | L | L2 | L3 | L4 ‘ Ls |
[ %0 [ 864 IERENERECE

LA({720mm)

Max length opened / 5 & FE = fE1816mm

2/12

Distance between plane fixing holes
EE S EEETLIE L3(780mm)



RS =R R BARTRT M
Min35 Min.550 .
445 | 445 520\ H |
//R/néﬁ/,.-"\ T - T 2
T : T
]

725~820

k-

CABINET REQUIRED INTERNAL DIMENSIONS

" Second tilting plane Rk 31 SUR

P
i 1270
! ™ L]
L 1375 _‘
9 . SYMBOL
y VERTICAL FREE SPACE 47 4577 U] 1 H IMB: 170
PLANES THIGKNESS 1B FIAR BT i 18
INTEANAL FREE SPACE 52 35 93 flf) % BE P JMi: 550
PLANES WIDTH SRR B I z L-5x2-5
k( \ .\ CABINETWIDTH HE AR T8 T L o0
N et — - N
Fixed lop plane T
A \ \ &SR A
\. First tilting plane
A\ .
\ )
Y ol

3/12



HOLES FOR MECHANISM POSITION
HERR PR LI E

453 54,

37 64 352

TOP OF THE SLIDES

3
© \ A A
1 o RS
g A o813 A
Frontij
>
THE INDICATED 50 mm DIMENSION 1S TO ALLOW
A FREE SPACE BETWEN THE BOTTOM OF THE SLIDES
AND THE PLANE OF 20 mm
AU THE SN SORIESEESommELE
LA @AW A S 20mm £ TR
1

4/12

X+33



TABLE TOP PLANES DRILLING s op pane

HRREFE BERiE
. ° ¥ Q o
Frirbiie BOTTOM VIEW
|~ TRE
/. Q Q
First filti |
R .
ot o)
445 - 445 . LT, 256
] |
||1 g
o— 1 \L \ T
| 5 b
| |
@ ﬂ
] s f
5 < ! %
SR p ] i
- N N
vl
43 |
" +« [
] / & J—
217 o217 ] / /
sty v aaesge |

5/12



CABINET PREPARATION B R RIEHRTERS B

/

D -®8x12 Brass bushes 2.Disassembly the externa! slides unscrewing the indicated screw
inE HTFAERARRNANE LR

@D L w0150 7380 screw rusxronmss

1.Inseri the M8 Bushes in cabine! walls holes
EENERNSETRE08x]25HE

N.4 Socked wrench | 4RRIETF

6/12



MOUNTING OF THE MECHANISM ON THE CABINET BHiRLEMHERE

1- Unscrew till the external slide is free,
EIXII‘SCIJEE external slide from the mechanism
SHABT R, SN0

2 - Mount the external slides on the cabinet sides
using 4 “B" screws M6x12 on each side.
Thighten the screws using the n. 5 Allenkey.
Insert the mechanism on the external slides
and screw the iwo screws dismounted before.

@ H- Socked head cap screw M5x6

MEEP7s g SIS AT {EMOX L 2A A ME R PR

BEZa RN
' B- Socked head cap screw Méx12

Méx12/7< R 845 H-- 3 - After closing the mechanism, screw under the
front of the external slides the two "H" M5x6
screw using the n. 4 Allen key.
AR AT EMSX6MA AR R ER SR E

N.4 Socked wrench N.5 Socked wrench

AR ART SEtNART

7/12



PLATES ASSEMBLY BENERIER SHIEESE

CONNECTING BAR
L L

n*4 Socked wrench n°5 Socked wrench
A AIRT SHART

LOWER PLATE
HRERE

' B- Socked head cap screw MEx12
MBx12p 7 fiflis

G - Socked head tapered cap screw M6x16
MBx 167 75 A i i

8/12



PLANES ASSEMBLT SiRELEHN4ELE

Fixed top plsnej
BER®

@ D - 1248 M8 Brass bush
®8x12iH%E

o E - Striker fo plane hook == C - Socked head cap screw M6x60
SAREER MExBOF 75 5 #R i
F - Tapered wood screw 3,5x16 n°s Allen key
¥ ©3.5x16K F iBik ‘—- et

9/12



LEGS ASSEMBLY AND HEIGHT REGULATION R85 5 = ERE

10/12

Insert in these holes the n. 4 allen key o allow
leg heigth regulation of about 22 mm
BaRAARTFRERE~2mm

n*4 Socked wrench
SAET

n"3 Allen key \
IMABIRTF

Use the n. 3 allen key to screw and unscrew
this grain and positioning the lower part of
the feg in one of the three allowable positions
SRR S @R P —HEEE



FUNCTIONING SEQUENCE 1#{ERE

==

CLOSED SLIDES OPENING LEG RELEASE AND ROTATION
R A0 Hi A o B S

LEG EXTENTION AND LOCK PLANES OPENING OPENED
HREE SRR EEITH

11/12



TO ROTATE THE LEG, TURN THE TWO
BLACK LEVERS SITUATED ON THE
INTERNAL SLIDE
SR ERK TR
FEES EEREAN

TO CLOSE THE MECHANISM PUSH
TOWARD THE INSIDE THE TWO
RED PLASTIC PARTS

Ui B N A R RRER

S ETRE S E AR TO RETRACT THE LOWER PART OF
THE LEG, PUSH THE GREY BUTTON
WEISREET R E R RS

12/12



